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A & 0l & AF 2 E A A
201789 = S04 LA sEII=u
2N sI=sY
M sgIIsNe
&€ NFTE sdSde JI=X AY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s2J=1 3,266,749 4,218,320 A 951,571
= 391,820
Xl 340,000
= 128,970
Al 2,405,959
sIl=HY 3,159,758 2,795,998 363,760
= 377,320
Xl 340,000
< 128,970
Al 2,313,468
& sHS ML JI=RE A Y 943,314 1,170,590 N227,276
= 268,320
< 24,970
Al 650,024
SIS AsneE SAAY 4,500 5,000 A 500
206 = Hl 4,500 5,000 A 500
01 MHZ 4l 4,500 5,000 A 500
LS As0E A MM
1,500,000& *3ha 4,500
H 2238 2=2Jt2 IS 38,234 32,000 6,234
< 11,470
Al 26,764
402 RI2EXt20l ™ 38,234 32,000 6,234
< 11,470
Al 26,764
03 QI 2HCH & A S HI 38,234 32,000 6,234
OB B33 22t HAX &
38,234,000 « 104 & 38,234
= 11,470
Al 26,764
sgll=2a Ay Edits 2 s=A0IL &4 6,720 5,600 1,120
201 L2l 2,320 1,200 1,120
01 At 22l 2,320 1,200 1,120
O1 get==EH| 1,120
DsdlIs23EIts 82N A
60,000& »23] 120
DsdlIs22EIts EESHA
5,000& 2005 1,000
o6 Itz 1,200
Dsll=23AY EOa(S2h, Z20) A
Ax= 600,000 = 1CH »23 1,200
301 et d s 4,400 4,400 0
09 HALAHIEA S 4,400 4,400 0
Osglla23Ae "otsl(s2, Z23) 4K
R~ 7,000& »200¢! 1,400
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sYIl=He
NEE st J=XE

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Os=sdol st=HOlLF AT ol 24
60,000& x50¢2! 3,000
2= MSEHX X 29 13,700 292,700 N 279,000
201 Bt H | 700 700 0
01 AP 22l Yl 700 700 0
O6 itz 700
DPESs S0 28HEH X2
700,000& = 1CH 700
206 M=l 13,000 292,000 N 279,000
01 X2 bl 13,000 292,000 N 279,000
O+ SAMA I K&
1,300,000& *10ha 13,000
X3 g9sad 40,745 43,774 A 3,029
201 et A | 17,705 20,734 N 3,029
01 AFR2 2t 2l dl 640 640 0
O1 dEtx=2H| 640
DNEEZE SHE 40,000& *4CH x4 =2 7| 640
02 3524t 17,065 20,094 A 3,029
O1 2222 ¢ HMA 3,160
>SS EEZ 600, 0003 *4CH 2,400
DEANN RS 80,000& *=4CH 320
>DASI BA=E 30,0003 =4CH 120
> Xt XHA 320
O A8S= 30,000& *2CH 13 60
[OR=S3==a=1; 60,000 *1CH*13] 60
OU=sHEsSE 200,000& *1CH *13] 200
O4 It 13,905
>ASESE 3,416,000& *2CH 6,832
>EasE 3,993,000& = 1CH 3,993
PUOSHESS 3,080,000& = 1CH 3,080
202 04| 23,040 23,040 0
01 2LHOHI 23,040 23,040 0
Ogsad =0 1,920,000& x12& 23,040
AZTd2AY 2 31,275 31,916 A 641
101 @121l 20,275 20,916 A 641
04 JIZtH2ZXNEE S 20,275 20,916 AN 641
OoaZT A A 2 20,275
>IlE3 52,600 *121 %207 10,889
> a2 52,600& 101 %21 x23| 2,210
>DFEEsaY 52,600& *101 %43 2,262
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
DAHAXLEE 52,600 12110 526
> & MHZ A 130,000& 121 10 1,300
=== 120,000& 12110 1,200
>=20dH32 18,386,000 x4 .5/100 828
>PAAEEH 18,386, 0002 *3.06/100 563
DAJRQAEH 563,000 *6.55/100 37
DNEYEE 18,386,000 x1.5/100 276
>ATHEE 18,386,000 x1/100 184
201 et 5,000 6,000 A 1,000
01 AR 22l ] 1,000 1,000 0]
O1 Bt==H| 1,000
DAZAHALA 2 1,000, 000& 14! 1,000
02 232%H4| 4,000 5,000 A1,000
O3 A& &H|I S XYl 4,000
DAZAHALA AL HH KA
4,000,000 « 1Al 4,000
206 M = Hl 6,000 5,000 1,000
01 X Z Hl 6,000 5,000 1,000
OaEd2ea 29 M=l 6,000,000 =14l 6,000
AsSHYEMWZ I =X 75,500 60,000 15,500
206 M = Hl 4,500 0 4,500
01 X2 H| 4,500 0 4,500
OO0t= FOIUEH ASAIEAIY
1,500,000& 304 A 4,500
402 SI2F X201 & 71,000 60,000 11,000
01 CIZEXIEANS X (ML) 71,000 60,000 11,000
OLNEZ Ot AlY
10,000,000 *3ha*50/ 100 15,000
O3HH Z& HE3Z Jlet =4
44,000,000 =14l 44,000
OJl2ds B XS S8 A
5,000, 000 «2J1 A *60/100 6,000
OM=Z2 HoHHM AMASEZ2(LIER=MTF)
H e 10,000, 000 =11 A *60/ 100 6,000
S&E gols SHAE ALY 160,000 103,000 57,000
402 BI2H X 20| M 160,000 103,000 57,000
03 QI 2HCH &4 AF S HI 160,000 103,000 57,000
OH dols2 M (2830, =g89) 2H XA
150,000 2 ,000na*40/100 120,000
O BHolls MBSH(RIED| ) HAMK A
60,000 x500na*50/100 15,000
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OS2 dalsLH X&
50,000 *500ha*23] *50/ 100 25,000
sHSgols a4y 29 N 24,000 54,800 /30,800
2 12,000
Al 12,000
101 @14 dl 3,500 3,000 500
= 1,750
Al 1,750
04 DI Z2XNHEE S 3,500 3,000 500
OBdis UZE.AHARE LAMT FEY
3,500,000 » 14 3,500
= 1,750
Al 1,750
201 £B-2%| 12,000 19,000 A7,000
= 6,000
Al 6,000
01 At 22/l 6,000 19,000 A 13,000
O1 get==2Hl 6,000
PROTELEY GEAAY 2 +42
4,000,000& 14 & 4,000
= 2,000
Al 2,000
DHEMNESYN ¥ sll=sE2s EE2E ME
2,000,000& » 14 2,000
= 1,000
Al 1,000
02 2324l 6,000 0 6,000
ONZ&dl & s R
6,000,000 » 14! 6,000
= 3,000
Al 3,000
206 = Hl 8,500 8,800 A 300
= 4,250
Al 4,250
01 MHZ 8l 8,500 8,800 A 300
OgoisedHM & A2
8,500,000 » 14 8,500
= 4,250
Al 4,250
sHSdgols 222 29 & 6,000 6,000 0
= 3,000
Al 3,000
206 24 6,000 6,000 0
=2 3,000
Al 3,000
01 MHZ 8l 6,000 6,000 0




2A: sgI=
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e DEE SsMSMA JIsXE ALY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Osx=dus 222 =% M=l
6,000,000 x14! 6,000
2 3,000
Al 3,000
Ss&SYls LMY XA 16,640 5,800 10,840
= 8,320
Al 8,320
206 M EH| 16,640 5,800 10,840
= 8,320
Al 8,320
01 XHZ H| 16,640 5,800 10,840
OZddols(atay) MM X
11,660,000 « 1Al 11,660
= 5,830
Al 5,830
O=s2dYois (=) SHAM K&
4,980,000 « 1Al 4,980
= 2,490
Al 2,490
S9 MJE AlY 490,000 450,000 40,000
=2 245,000
Al 245,000
201 LBt | 2,300 10,300 ~8,000
= 1,150
Al 1,150
01 AP 2t 2| H| 2,300 10,300 A 8,000
O1 detf==2H| 2,300
DsilME HEHHYEe ASUHX JIsAY
>=2H ¥ 2ddLLS 2,300,000 x 14! 2,300
= 1,150
Al 1,150
206 M = dl 22,000 9,000 13,000
= 11,000
Al 11,000
01 X2 4l 22,000 9,000 13,000
Os=s2iIME IS ASHIX Jls=AlE M
24| 22,000,000 1Al 22,000
= 11,000
Al 11,000
207 I | 5,000 0 5,000
= 2,500
Al 2,500
03 AI& A 32| 5,000 0 5,000
Os=sgiIME (IS ASHIX JIsAlY Al
A3l 5,000,000& =14l 5,000
= 2,500
Al 2,500
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B sllaNY
S NBE SAUEMA JI=X3 AlY (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
402 QI2F X2 0| & 460,000 430,000 30,000
= 230,000
Al 230,000
02 BIZEXIEAMNYEX(0IETHH) 460,000 0 460,000
OYEE DB & Xl SH(3EX)
100,000,000& *1E+ X 100,000
- 50,000
Al 50,000
OAHl ZFE SI8 D70F HESX Z4H (24
) 100,000,000& *=1E+ X 100,000
- 50,000
Al 50,000
O2AH 20|12 ANEJ0 AHEMA AlY
50,000,000& *1E+ X 50,000
= 25,000
Al 25,000
ORZEEYSE 0|88t e ls HEEE DIz
= 10,000,000& x1EHX] 10,000
- 5,000
Al 5,000
O=z0 FUSY 5 23 AY
200,000,000& 1 &t X] 200,000
= 100,000
Al 100,000
405 Ko SHI 700 0 700
- 350
Al 350
01 JtAt = ZF S HI 700 0 700
OsdiME HEHHSE DSHFMH2
700,000& = 1CH 700
- 350
Al 350
AHH E2IJI=(%H|) 20,000 0 20,000
< 7,500
Al 12,500
402 SI2FXHE0| M 20,000 0 20,000
= 7,500
Al 12,500
02 BIZEXIEANYEX(0IETHH) 20,000 0 20,000
OZ22UcHE 8¢ s XIIEA AIE
20,000,000& *1E+ X 20,000
== 7,500
Al 12,500
A=HEORIIS XA (TH) 16,000 0 16,000
< 6,000
Al 10,000
402 SI2FXHE0| M 16,000 0 16,000
= 6,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 10,000
02 U EALEZ(0IETHR) 16,000 0 16,000
022 Sd USSHA NSES MuhAlE
16,000,000& »1EH X 16,000
< 6,000
Al 10,000
MAHEZ Y A SMASHLA JIsEZ 847,020 622,920 224,100
Xl 300,000
= 104,000
Al 443,020
= st22d 29 7,104 4,984 2,120
101 1244 dl 2,104 1,984 120
04 JIZHHZ2Z2XRHEE S 2,104 1,984 120
O+ sized 29 ALy
52,6003 #x201+20 2,104
206 M= Hl 5,000 3,000 2,000
01 M= 4l 5,000 3,000 2,000
OStEMa Al L AL (LM E 2 8F)
5,000,000& =14 5,000
ANAMES0H SEZS MAMI=ESAY 15,916 17,936 A 2,020
101 @124l 8,416 7,936 480
04 JIZHHZ2Z2XNSE+ 8,416 7,936 480
ORYE=2 AL 2% A8y
52,6003 x201+80&! 8,416
201 Let24d] 2,500 5,000 A 2,500
01 At 22l 2,500 5,000 A 2,500
O1 et=2Hl 2,500
PRI I =2 500& 5,000 2,500
206 M= Hl 5,000 5,000 0
01 MHZ 4l 5,000 5,000 0
OIS ML JIUMH AL (HESX 2 105
) 5,000,000& 14! 5,000
AN &g &= It d 300,000 160,000 140,000
Xl 150,000
Al 150,000
402 RIZEX201 ™ 300,000 160,000 140,000
Xl 150,000
Al 150,000
02 RIZEXt 2 AL EZ (OIS ) 300,000 0 300,000
OZZZEL =HUE A8 ZIIMH AlIE
300,000,000& *1&H X 300,000
Xl 150,000
Al 150,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Nesgy Sd3 XN& 300,000 320,000 A20,000
X 150,000
Al 150,000
402 2I2H X201 M 300,000 317,000 A 17,000
X 150,000
Al 150,000
02 2IZE 2 A EZ(OI XM TH ) 300,000 0 300,000
OgE XNAM=s0 ZHHMD AMEAS
300,000,000& *1EH X 300,000
Xl 150,000
Al 150,000
MEsER=s 24 J=X (=) 64,000 0 64,000
< 24,000
Al 40,000
402 RI2EXt20| ™ 64,000 0 64,000
< 24,000
Al 40,000
02 QI 2 AL EZ (01X TH ) 64,000 0 64,000
OZled ClaTHE ASAdE
40,000,000& = 1EH X 40,000
< 15,000
Al 25,000
Ostgl Relz SH43FS AHIET Al
24.,000,000& = 1EH X 24,000
< 9,000
Al 15,000
NEESALY 2435 160,000 120,000 40,000
< 80,000
Al 80,000
402 RI2EX20| ™ 160,000 120,000 40,000
< 80,000
Al 80,000
02 QI E2AS EZ(OI XM TH ) 160,000 0 160,000
OSEWBA(CHeN) NLLENESRYH AY
160,000,000& *1EH X 160,000
< 80,000
Al 80,000
T E MBsY JzsES 503,080 510,197 AT 7
ELEHBIAY 24 98,382 73,090 25,292
101 @14l 28,262 27,270 992
4 J12ZtHZ22EE = 28,262 27,270 992
Osgzddy 24¢ 28,262
>olEs 52,6003 101 x247 12,993
> a0z 12,992,200 *4/12 4,331
PEsd 52,6003 x191«53 2,788
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MM SHI|sIHe
S XANYESE MHEsY Iz (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
DA 52,600& *121x12 632
> &M ZAH| 130,000& x 11 x12& 1,560
D WEE XY 120,000& =101 x12& 1,440
>EAZ 23,741,940& /12& 1,979
>=01d=32 23,742,000 *4.5/100 1,069
>PALAEH 23,742,000 *3.06/100 727
DEIINSEH 727,000& *6.55/100 48
>PIEEEH 23,742,000& *1.5/100 357
DA EE 23,742 ,000& *1/100 238
> I =l 100,000& x 12! 100
201 YEr2 Y| 13,620 9,120 4,500
01 AP 2t2ldl 4,620 4,620 0
O1 etx=2H| 4,200
DESZILME2Y 4,200
OANZSE HE 500& *3,0000H 1,500
OANHBIHEAM H& 400& 3,000 1,200
OHNM AEXNZ =& 500& *3,0004 1,500
O4 12| 420
DESHYFARY EXANEMNF IS
70,000& *321x235] 420
02 =294l 9,000 4,500 4,500
O3 A& &8I X bl 9,000
DEEHEA ALEH KA 300,000& *30& 9,000
206 T 2 bl 1,500 1,500 0
01 & bl 1,500 1,500 0
OZEdFLE2Y M7 30,000& *505 1,500
207 A FOH ] 17,000 15,200 1,800
03 A& o1 2| 17,000 15,200 1,800
OZedEZEA2Y 17,000
> A Al 50,000& x100& 5,000
>aEx 100,000& *30& 3,000
>ASEEIA 250,000& *3& x12& 9,000
405 XHaHF SHI 38,000 20,000 18,000
01 JHAE =2 Z F = H 38,000 20,000 18,000
Os3252d2I 38,000,000 *1CH 38,000
SEOMES HYY MAAL AX 263,374 305,906 A 42,532
101 @121l 20,374 22,346 N1,972
04 JI2ZtH 22 XNEE % 20,374 22,346 N 1,972
ORE0MEAHATA L HIYHMAALE 29 20,374
>olE3 52,6003 *101 %207 10,889
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AIl=1

Hel NESE s JeES

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
>aNS 52,6003 x 101212 %23 2,210
PEsd 52,6003 x191+43 2,262
> AX =G 52,6003 x 12110 526
D> &Mz AH| 130,000& 121102 1,300
>uNE2 X 120,000& 121 x10& 1,200
>0z 18,386,000 *4.5/100 828
DAHLEE 18,386,000& *3.06/100 563
DEINLUYEH 536,000& *6.55/100 36
>PNESEE 18,386,000% *1.5/100 276
DATHE & 18,386,000& *1/100 184
> Il = dl 100, 000& 12! 100
201 £B-2dH| 78,000 76,560 1,440
01 At 22l 6,160 4,720 1,440
O1 Let==ZH| 5,600
PsERE0dE 28 248 MH
1,000& »2,000% 2,000
PsdRE0MSHY 2SN
200,000 *8IH & 1,600
PsRElME E4++2
2,000,000& » 14! 2,000
O4 1l =l 560
PseRSldEd74 & SHsERS0H
SHia I =H| 70,0003 84 & 560
02 =224l 71,840 71,840 0
O1 83322 ¥ HA 51,840
PsdRE0lldsgd+4d 2 SHSHRS0Y
S 51,840
oONIIe=a 500,000 *8IH 2+ 12& 48,000
O&JItAHEE e =2
110,000& 122 1,320
OCHYAIEZ 30,0003 *70H 2128 2,520
O3 A€ &Hl |t 20,000
PsdRE0lldsd+4 & SHSHRSE0Y
SHA AIEEH S 20,000
2,500,000 *8H 2~
207 Ao 2| 165,000 7,000 158,000
EEET 165,000 5,000 160,000
OSSN 29 A% 2
5,000,000& =14l 5,000
O=Z=E0IME tHEME 2
160,000, 000& 14 160,000
SMNSUHHLRANSY 131,324 121,201 10,123
101 @124l 56,524 51,001 5,523
04 JIZHHZ2XNESE S+ 56,524 51,001 5,523
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CsgllEny

D MEEE MEsgY Dl )
B (BH) - NRAY - By il 2
OstsizsAZA 28,262
>ol=s 52,6003 121 %247 12,993
SR 12,992,200 #1921 %4/12 4,331
DEEY 52,600 x 12153 2,788
> AX =S 52,6003 x101%12 632
> EAZ A 130,000& 121+ 12& 1,560
>uE2 Xl 120,000 11 %123 1,440
>EXZ 23,742,000& /12& 1,979
e = 23,742,000& *4.5/100 1,069
DHLEE 23,742,000& *3.06/100 27
DAIRYEE 727,000 *6.55/100 48
PNEEE 23,742,000&*1.5/100 357
>ATHEE 23,742,0002 *1/100 238
> Il = 4l 100, 000& 12! 100
OsttESddEgE4844 29 28,262
>olEas 52,6003 x 101247 12,993
D&z 12,992,200 121 %4/12 4,331
DEFY 52,6003 »191«53 2,788
DAY 52,6003 x101«12 632
D> & Mz AlH| 130,000& 11 %123 1,560
>UES2 X 120,000 121 x12& 1,440
>EXS 23,742,000& /12& 1,979
>I0AHZ 23,742,000& *4.5/100 1,069
PAZEE 23,742,000& *3.06/100 727
DAIINQYEE 727,000 *6.55/100 48
>PIESEE 23,742,000&*1.5/100 357
DATHEE 23,742,000 *1/100 238
> 1l = i 100, 000& 1! 100
201 LEr2 Y| 15,200 10,600 4,600
01 At 2teltl 200 200 0
O1 Let==EHl 200
PsiSstddEds 2N
200,000 =10 & 200
02 8322l 15,000 10,400 4,600
O3 A& ZHI s Xl 15,000
DsdtEtdEdEAA AIEEH KA
15,000, 000& 14! 15,000
206 M= Hl 1,200 1,200 0
01 24l 1,200 1,200 0
OsMSUHHLEAN WL
30,000& 403 1,200
207 A RO H| 58,400 58,400 0




2N sI=sY
M sgIIsNe
SOl REEE MYSY )23 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 Al & 11HI 58,400 58,400 0
Osttsddz484 2 58,400
DASEE JtA 200,000 x6&5+12& 14,400
DUFR=AZAH EEAMY 21,000,000 14! 21,000
DAEE I 15,000, 000& 14 15,000
D> a8 Al 8,000,000& 14! 8,000
SZOEE HEXN NS0 4 AlY 2,000 2,000 0
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
Ozed 258 X NEWE SAANYE M=
2,000,000 =14 2 2,000
HE=EZ08 dad 2 4Tl L AlY 2,000 2,000 0
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
OHZ=EYSE 2 s
2,000,000 =14 2,000
REOMESEE X2 SlLH AY 3,600 3,600 0
206 M= Hl 3,600 3,600 0
01 =8l 3,600 3,600 0
SBNMSES SN2 YHLHAL (FHE)
M= 3,600,000& » 14! 3,600
ANELIHR 28d S LHAE 2,400 2,400 0
206 = Hl 2,400 2,400 0
01 MHZ 4l 2,400 2,400 0
OAMZuUIHZ Ze&d SETLHMAE W=
2,400,000% 14! 2,400
NEELs & et s ASAIE AR 866,344 492,291 374,053
= 109,000
Xl 40,000
Al 717,344
Hetds AESANEE 29 117,252 79,936 37,316
101 @124 dl 60,812 51,536 9,276
04 JI2ZtHZ22HEE =+ 60,812 51,536 9,276
Ontstd s ASANEE2Y 40,437
>olEas 52,6003 521 150 39,450
DA BE = 987,000& » 14 987
Oustgds ASANEEZRY 20,375
>olE=s 52,600% x 121 x207 10,889
Dotz 52,6003 #1091 +x21 +23] 2,210
PEE=E 52,6003 » 101 432 2,262
> AX =G 52,6003 x101+10 526
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I sedlsY
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5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
> & HZAH| 130,000 12110 1,300
> uWEE X 120,000& 121 10 1,200
D=0z 18,386,000 x4.5/100 828
DAY E 18,386,0002 x3.06/ 100 563
DAJQUYEEH 563,0002 *6.55/100 37
>DNEZE 18,386,000 x1.5/100 276
DATIEE 18,386,000 x1/100 184
> Il =4l 100,000& =12l 100
201 et 14,400 14,400 0
01 AR 22l ] 1,400 1,400 0]
O4 11=24| 200
>std s Al I I =4
100,000 *20! 200
06 U2 1,200
>SS Al = pEEe myl LR
600,000 «2CH 1,200
22394 13,000 13,000 0
o1 232 ¢ 8,000
>std s Al = 8,000
oOMIIR2 400,000 x12& 4,800
OsJlH oz 800,000 =4 CH 3,200
O3 AIE&&HISX 5,000
Dstgd s A I AIE&EUI KX
500,000& 10 5,000
24l 10,000 10,000 0
T Zdl 10,000 10,000 0
Otstd=s ASANEEZ 29 XM
200,000& x50 10,000
AlEH L 20| 30,440 0 30,440
Al & H| 30,440 0 30,440
Oltstd=s ASAIEE AMAEoIRA TIIE2S8 M
20,000& %1, 522m’ 30,440
AHAESE S H| 1,600 4,000 A 2,400
ML ESFHEY 1,600 4,000 A 2,400
OstdA=s ASAl SIIH 2
800,000 x2= 1,600
N = HARALE 29 83,742 82,457 1,285
01 @1 214| 28,262 26,977 1,285
04 JIZtHIZ22XNSE S 28,262 26,977 1,285
Olstd=s HPZA 29 28,262
>l 52,6003 x101 %247 12,993
>ANWB 12,992,200 x 191 %x4/12 4,331




A m2IE
e

Sl NHSHE U DY ASAE A7 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
DESsaY 52,600& *121x53 2,788
DA 52,600& x121x12 632
> &M Z A 130,000& =101 x12& 1,560
MR-y ul 120,000 x 121 x12& 1,440
>EAZ 23,742,000& /12& 1,979
>=0dAZ 23,742,000& *4.5/100 1,069
DALEEH 23,742,000 *3.06/100 727
>AJRAEE 727,000& *6.55/100 48
>PINEEE 23,742,000& *1.5/100 357
DA EE 23,742,000 *1/100 238
> Il = Hl 100,000& 12! 100
201 Bt A | 42,480 42,480 0
01 At 22l Yl 280 280 0
O4 Il =4| 280
PUSHSAL AEE Y B DY
70,000& x291 %235 280
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DAt sAlE JIIL=2
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DAt sAlE X2l 8,000,000& x 14 8,000
206 M= Hl 9,000 9,000 0
01 X2 bl 9,000 9,000 0
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207 A IR &b 4,000 4,000 0
03 A& FH| 4,000 4,000 0
OZXHU AL =35A MEAZXXM
50,000& *80& 4,000
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101 @121 36,550 36,098 452
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Osgiestsdasy 20,375
>Il23 52,6003 *121 %207 10,889
> a2 52,6003 * 101 %21 x235] 2,210
>EsY 52,600& *101x43 2,262
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>20HZ 18,386,000 *4.5/100 828
DALES 18,386,000& *3.06/100 563
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O1 eet=ZHl 2,000
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OE2F ASHSS4 MY
20,000,000% *1JH 2 x60/100 12,000
S48 29 NE 18,000 0 18,000
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01 M2 4l 8,000 0 8,000
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= 92,000
Al 92,000




M sllsn
M gl

S NSSHE L BEYs ASAEY o7 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 184,000 0 184,000
OustEsASAHE SEtel X
4,000,000& =14 4,000
= 2,000
Al 2,000
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= 14,500
Al 57,195
ol 2| 34,737 33,596 1,141
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OAt 284 9,649& 1201 x300A| 2t 34,737
ol dy|(Sga4ad 29 X&) 36,958 34,730 2,228
= 14,500
Al 22,458
101 @124l 36,958 34,730 2,228
= 14,500
Al 22,458
03 RIHAZ 22+ 36,958 34,730 2,228
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